QUANTUM TV BED with 0.5.B

Single

Open from the left

Open from the right

Dreams

i

Two person

approx

1.5 hour

Love your bed

assembly

assembly time

V1 250303



IMPORTANT OTTOMAN SAFETY WARNINGS

® IMPORTANT-READ CAREFULLY -RETAIN FOR FUTURE REFERENCE

® Ensure the combine bedding and mattress weight is within the recommended
weight guidence.

Recommended weight guidence for safe operation:

Bed Bed Size Min Weight (kg) | Max Weight (kg)
QUANTUM .
Mattress Base Board Smgle 15 40

e Adult Operation Only: Not recommended for the use by children under the
age of 12 years old, Please note ease of operation is dependent on height

and strength of user.

® Avoid Entrapment: Always lift the bed with the mattress in place, using the
handle(s) to lift and lower the base, keeping clear of the mechanism.

Don't lift without mattress

LEnsure mattress is on before lifting

Fully Open Ottoman: Ensure the ottoman is FULLY open before accessing the
storage area.

Avoid Hinge Area: Do not reach into the storage area through the hinge mechanism.

Keep Children and Pets Away: Ensure children and pets stay away from the storage
area, Do not stand inside the internal storage area of the bed.

Do not attempt to lie on the mattress when the ottoman is in the raised position.
Note: The bed uses a pressurised mechanism.

Maintenance: Regulary inspect your bed to ensure it is functioning correctly.

Quantum TV Bed - Assembly guide - Page 2



Ottoman Beds - Important Safety Features

Our aim is always to give you the best experience and to ensure every effort has been made to guarantee
your comfort and safety. Please take time to look at these instruction as they will help remind you how to
operate your ottoman bed safely.
Here’s a few things you need to remember;

v/ Pistons are already assembled, or occasionally need to be fitted, in their correct orientation - this
improves piston performance and durability.

v/ “Break in " the piston seals on first use by raising & lowering the platform at least five times.

v/ Recommended mattress weights - do not exceed the maximum relevant weight specified in this
Assembly Instruction.

v/ Ottoman support bar - always engage the support bar when accessing the ottoman storage area.

Read all the instructions before using your Ottoman bed-frame and save the instruction booklet for future reference.

Ottoman Support Bar (0O.S.B.)

For optimal safety during operation, always ensure the O.S.B. is engaged when accessing

Mooooo

the ottoman storage area.

1. Always raise the ottoman frame to it's highest position before using the storage area.

Locate the end of the O.S.B and insert into the fixed retaining bracket on the bed frame.
2. When you are ready to lower the ottoman platform, return the O.S.B to its original parking position.
3. Always ensure that the O.S.B is in position when the ottoman is open, this prevents injury, or
damage to the product.

Location of the O.S.B

End-lift :
O.S.Bison
the left=—f L.
side of
the bed.
J Side-lift: O.S.B is on either

the left side or right side of
the footend or side rail.

WARNING! Risk of Entrapment

o The pistons on the ottoman bed frame can support a maximum load (evenly spread) as indicated in
the Minimum and Maximum load table, on Page 2 of this Assembly Instruction.

o Overloading the sleeping platform may contribute to damage to the product resulting in potential
serious injury.

o Do not sit on the mattress whilst the platform is in motion or is in the raised position.

o Users should only get in and out of bed when platform is in the flat (horizontal) position.

Quantum TV Bed - Assembly guide - Page 3



Thank you

Hello, thanks for choosing to purchase your bed from Dreams - you're now on your way to your best
ever night's sleep. Before you begin building your bed, please take a moment to read through the
instructions and make sure that you've got all the relevant parts listed on the following pages.

&)

Ba3

® ® ©

Assembly tips
Before you begin, it's best to identify all parts and fittings to build your bed.

We advise laying these out on the floor to check you have everything, and
familiarising yourself before building.

Top tip

We recommend that you build your new bed in the room you'd like it to be
located - this will help prevent any risk of damage to your newly built bed
whilst moving it.

Safety and care

It's really important to ensure children and animals are kept away from the
assembly area, as there are small components used in this bed which could
present a choking hazard. All plastic and wrapping materials should also be
kept away from children and animals to prevent any risk of suffocation.

To keep your little ones busy, there is a colouring page inside the back cover.

Help and support

At Dreams, it's our mission to give the whole nation a great night's sleep - this
means that the quality of our products is of utmost importance to us. If there
are any issues with your product or any missing parts, please visit our website
at www.dreams.co.uk/help

Recycling

As part of our zero to landfill policy, we're more than happy to collect and
recycle your old bed or mattress, ensuring no part goes to waste. We will also
take away all your packaging for recycling at point of delivery. Please check out
our services on www.dreams.co.uk/recycling-services for more information. If
you do not want us to do this, please check with your local recycling centre on
the best recycling method.

Quantum TV Bed - Assembly guide - Page 4



Parts

Important information

The bed you have purchased comes with a Mattress Base, please follow the instructions
below in the current order. Before you begin building your bed, please take a moment to read
through the instructions and make sure that you've got all the relevant parts listed on the

following pages.

Parts list

Code  Description

A Headboard
B. Footboard

Ca&Cb. Side Rails
D. Side Rail Cross Bar

Ea & Eb. Gas Lift Mechanisms
F. Support Bracket
G. Storage Base Boards
u. Cable Guards
I Media Tray

Qty Pack
1 1

2
3
3
3
4 3
5
3
6

Quantum TV Bed - Assembly guide - Page 5

—_

1 Pair

—_

1 Pair

—_

—_

Code

Ottoman Support Bar pack (O.S.B.)

Ottoman Support bar
Fixed Retaining Bracket
Parking Bracket

Mattress Base Board
Gas Lift Pistons

Mattress Stoppers
Fabric Hand Strap



Fittings

Please check you have all the fittings listed below with your product:
PLEASE NOTE: There are bolts which have been pre-fitted to headboard & footboard (A&B)
not included below - please study Step 2 carefully.

Hardware needed for fixing side rails & gas-lift mechanisms to headboard & footboard
Packed in side rail carton Pack 3 - hardware pack (A)

a x32

Bolts (M8x30mm)

b x32

©

Spring Washer for M8 bolt

C x32

Flat Washer for M8 bolt

d x1

T

Allen Key for M8 bolt

F x4

4

Support Bracket

Hardware needed for fixing ottoman support bar (0.S.B) to the side rail
Packed inside the Ottoman Support Bar carton, inside Pack 3

b x5

©

Spring washer for M8 bolts

c xb

Flat washer for M8 bolts

m X5

Bolts (M8x25mm) for fitting
ottoman support bar

Ottoman Support Bar

I xi

Fixed retaining bracket

K x1

Parking bracket

Hardware needed for fitting the mattress base boards
Packed in mattress base board Pack 4B - hardware pack (B)

a x4

(((((((((((@

Bolts (M8x30mm) for fitting
mattress base board (P)

b x2

©

C X2

;

Flat washer for M8 bolts

h x4

(=

(1

Flanged lock-nuts (M8)
for gas-lift pistons

j x1
&

Spanner for M8 nuts

p x8

Big Head Bolts (M8x20mm)
for fitting metal plate (q) and
mattress stoppers (S)

Spring washer for M8 bolts
qx2

Metal Plate for Fabric
Hand Strap

Tools required

&

Tape measure

/4

Cross head screwdriver

‘IIH|HH’\II\IHH‘HII“\II‘HII|HH‘H\I|HH‘HH|H\\‘IH\|IH\‘IIH|IIH‘HH|HH‘HH|HII‘\\II|HII‘HH|HH‘\\H|HH‘H\\|I\\\‘IH\|II\\‘IIH“IH’\II\IHH‘HII“\II‘

Oem 1 2 3

4 5 6

7 8 9 10

N 12 13 14

Quantum TV Bed - Assembly guide - Page 6

15 16 17 18




Fittings

Please check you have all the fittings listed below with your product:

TV Cables & Accessories
Packed in footboard carton Pack 2 - hardware pack (C)

Tools required

Il 0x3 U X3 v X1 N x1
Remote Control
Mains power lead Cable clips Cable ties HDMI 90° adapter TV Lift_LED
rx1 % ix2 B x2 W x1
Long connection cable E
between headboard
& footboard TV Support slide HDMI lead Remote Control Holster

& A

Tape measure Cross head screwdriver

‘\\II|\\II‘\HI|H\I‘\HI|HH‘IH\|IH\‘IH\|II\\‘IIH“IH’\II\IHH‘HII“\II‘HII|HH‘HH|H\I‘HH|HH‘H\\|IH\‘IH\||IH‘HH|HH‘HH|HII‘HII|HII‘\HI|HH‘HH|HH‘

Ocm 1 2 3 4 5 6 7 8 9 10 N 12 13 14 15 16 17 18

Quantum TV Bed - Assembly guide - Page 7



@ Choose which side you want to lift up.

OPEN FROM LEFT a x« b @ x w4 = x
E(a) ‘y x1 E(b) 7 1

Check this diagram and if access is needed from the left side, fit
both lift mechanisms to right side of the headboard & footboard.
Bolt into the holes marked (R) with blue labels.

The mechanisms are labeled E(a) & E(b).
Please carefully follow the diagram below.

. . Bolts should be in centre
Align with the Blue labels K of the long holes /

Quantum TV Bed - Assembly guide - Page 8



@ Choose which side you want to lift up.

OPEN FROM RIGHT a 6 b @ x® ¢ x8 d ‘/m
E(a) ES x1  E(b) Zj x1

Check this diagram and if access is needed from the right side, fit
both lift mechanisms to left side of the headboard & footboard.
Bolt into the holes marked (L) with red labels.

The mechanisms are labeled E(a) & E(b).
Please carefully follow the diagram below.

Align with the Red labels Bolts should be in centre

k of the long holes /

Quantum TV Bed - Assembly guide - Page 9



ePrepare the headboard & footboard for assembly.

Hardware pre-fitted to the headboard & footboard (A&B) d % X1
W~
”‘(’({@ Bolts (M8x30mm) x16

Do not remove, just loosen

Please do not tighten 100% yet.

e axs b@xB cx8 d/m

Quantum TV Bed - Assembly guide - Page 10



. = o /

/
AN
MEDIA TRAY SHOVIN
/

FITTED TO LEFT SIDE

MEDIA TRAY CAN ALSO BE FITTED
ON THE RIGHT SIDE, FIT (Ca) TO
RIGHT SIDE AND (Cb) TO LEFT SIDE.

Between the the headboard & footboard (A&B), carefully plug
e in the long connection cable (r) and finger-tighten the screws.
The cable is reversible so plug in at either end.

L _ _2_ R N Long connection cable L. ]
T v 7
. between headboard ,
\ & footboard /

Quantum TV Bed - Assembly guide - Page 11



6 Plug the small power plug of one end of the mains power lead () into
the socket at the bottom of the footboard. On the other end of the lead
bring the 3 pin plug out under the headboard and connect it to your
wall socket - for safety this must be an earthed power supply.

Press the UP button to

raise the TV Lift
. . <
TV Lift section || @
(e}
Light control 3
section &&

Occasionally you may find the radio wave connection between remote control and TV Lift is lost,
probably due to atmospheric conditions. In that case please follow these simple instructions:

1. Disconnect all mains electric power to the bed, for at least 60 seconds.

.,a\"h* 2. Press UP or DOWN Button on Remote Control and keep holding button down,
< simultaneously re-connect mains electric power to bed keeping button down forat least a
further 5 seconds. TV Lift unit receives signal from Remote Control and lift will begin to
§\| N move UP or DOWN whichever direction is appropriate.

3. Re-connection is now completed.

Quantum TV Bed - Assembly guide - Page 12



@ For illustration only, cables should be fitted to suit the positions of
the ports on the rear or your TV.

TV Power lead &

9 Preparing to fit the television.
Maximum TV dimensions: W73.5 x H43.5 x D6.5cm

43.5cm

Bl EBE R

Quantum TV Bed - Assembly guide - Page 13



@ Fitting the television.

Use the hardware supplied with the television to
. connect to the TV bracket

Quantum TV Bed - Assembly guide - Page 14



Iv.

m Note: For illustration purposes only, TV connections may vary.

/\\ 902 HDMI ADAPTOR TV power lead

Plug in-keep all
cables tight, use
clips & Ties provided.

Keep wires tight - peel off
cover from rear of cable clips
& adhere to back of TV.

IMPORTANT: Care should be taken when connecting electrical items. If you are in any doubt about the connections
please consult an approved electrician. If you still have a problem please contact your retailer for advice.

Quantum TV Bed - Assembly guide - Page 15



Press the “DOWN” button
to lower the TV lift.

@ Prepare the mattress base board (P). a ((’(((((((((@ X2

Quantum TV Bed - Assembly guide - Page 16



@Fit the fabric hand straps P x8 4 X2 s i.l X2

SMALL GAP
T

[l
D @

v @

e

Quantum TV Bed - Assembly guide - Page 17



@ Fit the mattiress base board (P) at the bottom of the support arms.

L CERY-PERIOK

Quantum TV Bed - Assembly guide - Page 18



@ Erect the cable guards.

@ Install the guards to the headboard & footboard.

Quantum TV Bed - Assembly guide - Page 19



@ Erect the Media tray.

@ Assemble the Media tray.
Hardware pre-fitted to the media tray

% Thumb-Screws x2

I1) Remove the thumb-screws.

i) Erect the tray.

1) Align the panels, re-fit and
tighten the screws

Quantum TV Bed - Assembly guide - Page 20



@ Install the Media tray. 5 c® x4

The light is fitted by the factory on the

left side rail (Ca).

If the media tray is needed on the opposite
side, fit side rail (Ca) to the right hand side of
the bed as shown below..

Bring the end of the connection cable from left
side to right side and connect the two cables
together as shown. No need to remove the
light. Tuck cables neatly under the velcro tabs.

I. Connect together

|

| ' Long LED

\ I cable at the
:LED ({0  footend of

I Short LED cable &= ' the bed.

;_ onthe LED Tube _:

Quantum TV Bed - Assembly guide - Page 21



@ Fit the adjustable side rail support bar. a

b © x4 cx4

If necessary adjust the length to
suit the size of your bed

° [
3-0 Single 93cm
4-0 Small Double 123cm

4-6 Double 138cm

b © x5 cx5

Fit the Parking Bracket (K).
Fit the Fixed Retaining Bracket (J).
Fit the Ottoman Support Bar (H).

Quantum TV Bed - Assembly guide - Page 22



Setting the inner stem of the support bar (H), adjust the inner stem to the
correct length

Parking position * , j

Set the inner stem to the correct length so the end just touches
the retaining bracket - it needs to touch to hold it in position.

i nl L

1] -
' Adjust the retaining bracket (J) so

K J & . J the stem end scrapes the surface.j

Quantum TV Bed - Assembly guide - Page 23



|

Hang your headphones.

@ Warnings - Matiress Base Board

AWARNING

Note: Be very careful what you T A TR
store under the bed - the tOp Of an To access the storage area, the ottoman frame
. . . MUST BE FULLY OPENED and then
item, like a suitcase or a box, must FULLY CLOSED afterwards.
not touch the mattreSS base or 'I:E'l:sure the :an::i:e hgd:ting.adnd mattress weight is within
e recommended weight guidence.
they may be da maged . Adult Operation Only: Not recommended for use by children
. . . under the age of 12 years old. Please note ease of operation
M aximum StO rage helg ht IS 285m m. is dependent on height and strength of user.
/ J Avoid Entrapment: Always lift the bed with the mattress in
s place, using the handle(s) to lift and lower the base, keeping

clear of the mechanism.

Fully Open Ottoman: Ensure the ottoman is fully open before
accessing the storage area.

Avoid Hinge Area: Do not reach into the storage area through
the hinge mechanism.

Keep Children and Pets Away: Ensure children and pets stay
away from the storage area. Do not stand inside the internal
storage area of the bed.

Maintenance - Regularly inspect your bed to ensure it is
functioning correctly.

Recommended weight guidence for safe operation:

Bed Size Min (kg) Max (k) REMARK
Single 15 20
Small Double 20 50
Double 20 55
King 20 50
Super King 20 70

& WARNING! HAZARD - DO NOT REACH INTO THE SPACE BELOW!

Quantum TV Bed - Assembly guide - Page 24



Care and maintenance

Here are some tips to keep your new furniture in tip-top condition

Cleaning

To clean your new furniture, we'd advise using a warm damp cloth or if fabric,
remove dust using a low suction vacuum cleaner - please do not use abrasive
chemicals or bleach as this may damage the product.

Checking and moving

Periodically we recommend you check that the screws or fixtures haven't been
become loose, over time. To move your new furniture, we recommend lifting it where
possible, as dragging or pushing it could cause damage to the legs or flooring.

Wood

Please note each of our wooden pieces are unique, meaning that markings and
shade can vary slightly between beds. Over a period of time, the wood might
lighten or fade slightly due to light exposure.

Fabric

Please note depending on the lighting, positioning and surroundings of your
room, the shade of the colour can sometimes appear slightly different. Over a
period of time, the colour might lighten or fade slightly due to light exposure.

© e &

Metal

Metal tends to be more resilient to everyday wear and tear. We recommend to
gently dust your metal furniture and keep it dry to maintain its look.

&)

Thank you for shopping with us - we hope you have
a great night's sleep

Quantum TV Bed - Assembly guide - Page 25



/
. i’r’rle dreamers

Keep the little ones entertained while
eeeeeeeeeeeeeeeeeeeeeeeeeee




Dreams

Love your bed



